MAT 099 Test 5
100 Points Nime KEY

1. Find the domain of each of the following rational functions:
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c. (5pts) (Add or subtract.) 3x2i;11+6+m
IxFhix+l oLy [
Q/i())((b% ?gcé. q+2=tl v (-6 = -30
o ~ B
< A (C@)C-S“\: - 30 %C/ G- = |
IR AxA X+ - —
' X x-S~
= 2x(x+3) +2(3) S
) = 2% (x+3) -5 (x+3)
- (x+3)@Bx + R
" )= (x+3)(2x=4
X LeD = (x3) B xed)(2x-5)
\ ,-
x+4 2%-57 .+ Ra . Bxt2
) S +2
() (BwD)  2X=€ (30 (x=8) 3
- 7 > 4
() (2x-67) + x(3xk2)  _2RT-B% LBw 20 £ 35200y
~ G - s
(w%)(? L 2)( 2)<~§) |
= 55y 20 SCx* + v-Y)
-cb i CurN G+ (205D

3. Simplify each complex fraction.
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4. (8 pts) Divide: (6x"+x°—4x+3)+ (x> -3).

Write your final answer in the form Dividend = Quotient + Ren’fa.inder
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5. (7 pts) Divide synthetically:
X+l

Write your final answer in the form Dividend = Divisor - Quotient + Remainder
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5. (5pts) Given P(x)=3x"+7x* —4x+12. Use the Remainder Theorem to determine P(-1).
Hint: Your previous work should come in handy, here. If you need more room, you’re doing it

wrong. /
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6. (10 pts) Solve the equation L + oy |
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Note: In all word problems, identify your variables in words and state the units. Setting these
up for others to read and understand is part of the process.

8. (7 pts) Two joggers, one averaging 8 mph and the other averaging 6 mph, start from the
same spot and end at the same finish line. The slower jogger arrives at the end of the run a half-

hour after the other jogger. Find the distance of the run. « ‘
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9. (8 pts) An experienced roofer can roof a house in 26 hours. A beginner needs 39 hours to
complete the same job. How long does it take for the two to do the job together?
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